Chapter 5 Practice Quiz – Answers

WS 5.0-2 Chapter 5 Quiz

Part A: Modified True/False

1. False; Both human actions and natural events can have

negative effects on ecosystems.

2. False; Pollutants can be harmful even in low

concentrations.

3. True

Part B: Completion

4. Pollutants

5. biomagnification

Part C: Multiple Choice

6. C; 7. D; 8. B; 9. B; 10. A

Part D: Short Answer

11. Sample answer: Floods happen when there is too much

precipitation, when a great deal of snow and ice melt

quickly, or when there is a large storm or tide. One

negative effect of a flood on an ecosystem is that the

flood can drown the organisms in the ecosystem. One

positive effect of a flood is that the water can recharge

water reservoirs.

12. The fertilizer from the crops is probably washing into

the pond. The nutrients in the fertilizer cause algae and

other organisms to grow out of control. They use up

most of the available oxygen in the pond, so there is no

oxygen available to support the organisms that used to

live there.
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WS A-1 Unit A Quiz

Part A: Modified True/False

1. False; The simplest level of ecosystem organization is the

organism.

2. True

3. True

4. True

Part B: Completion

5. elevation; latitude

6. producers OR autotrophs; consumers OR heterotrophs

7. carbon cycle

8. air

Part C: Matching

9. (d); 10. (c); 11. (b); 12. (a)

Part D: Multiple Choice

13. C; 14. A; 15. A; 16. A; 17. D; 18. B; 19. A; 20. C;

21. A; 22. D; 23. C; 24. C; 25. A; 26. C

Part E: Short Answer

27. The air on Earth is always moving. Air that is above a

Canadian city today could be hundreds or thousands of

kilometres away tomorrow. As the air moves, it carries

with it any pollution it has accumulated. As the air

moves around Earth, it can carry the pollution to

faraway places.

28. A foreign species may out-compete a native species,

depriving the native species of food, water, or shelter. In

addition, a foreign species may not have any natural

predators, so its population can grow rapidly, and it can

use up the resources needed by the native species.

29. The bacteria benefit from the relationship because they

get food and shelter. The plants benefit because they get

usable nitrogen. Because both species benefit, the

relationship must be mutualistic.
